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INDIAN INDUSTRIAL DEVELOPMENT

Hkkjr esa vkHkkjr esa vkHkkjr esa vkHkkjr esa vkHkkjr esa vkS|ksfxd fodklS|ksfxd fodklS|ksfxd fodklS|ksfxd fodklS|ksfxd fodkl
Time : 3 Hours] [Max. Marks : 70

Note : The Question Paper is divided into three Sections - A, B and C.

;g iz'u i= rhu [k.Mksa d] [k rFkk x esa foHkkftr gS A

Section - A

[k.M & d[k.M & d[k.M & d[k.M & d[k.M & d
(Long Answer Questions)

¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½¼nh?kZ mÙkjh; iz'u½
Answer any two questions. Each question carries 20 marks. 2 × 20 = 40

fdUgha nksnksnksnksnks iz'uksa ds mÙkj nhft;s A izR;sd iz'u 20 vadksa dk gS A
1. What do you understand by the Public Sector ? Evaluate the role of Public Sector in

the development of Indian Industrial Sector. 5 + 15

lkoZtfud {ks= ls vki D;k le>rs gSa \ Hkkjrh; vkS|ksfxd {ks= ds fodkl esa lkoZtfud
{ks= dh Hkwfedk dk ewY;kadu dhft, A

2. Define the Industrial Sickness. Examine the main reason behind the Sickness of Small

Scale Industries and also analyses the possible remedies ? 4 + 8 + 8
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vkS|ksfxd #X.krk dks ifjHkkf"kr dhft, A y?kq m|ksxksa esa #X.krk ds eq[; dkj.kksa dks
le>kb;s rFkk lEHkkfor lek/kkuksa dk fo'ys"k.k dhft;s A

3. Discuss the meaning of Liberalisation. Critically evaluate the New Economic

Policy. 5 + 15

mnkjhdj.k ls vki D;k le>rs gSa \ u;h vkfFkZd uhfr dk vkykspukRed ewY;kadu
dhft, A

4. Explain the concept of Industrial relation. What are the main problems faced by the

Industrial Labours and also suggests the optimum solutions in this direction ? 5 + 10 + 5

vkS|ksfxd lEcU/kksa dh vo/kkj.kk dks le>kb;s A vkS|ksfxd Jfedksa dh eq[; leL;k;sa
dkSu&dkSu&lh gSa rFkk bl fn'kk esa vuqdwyre lek/kku Hkh crkb;s \

Section - B

[k.M & [k[k.M & [k[k.M & [k[k.M & [k[k.M & [k
(Short Answer Questions)

¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½
Answer any four questions. Each question carries 5 marks. 5 × 4 = 20

fdUgha pkjpkjpkjpkjpkj iz'uksa ds mÙkj nhft, A izR;sd iz'u 5 vadksa dk gS A
1. What do you understand by Industrial Licensing Policy ?

vkS|ksfxd ykbZlsaflax uhfr ls vki D;k le>rs gSa \

2. Differentiate between Privatisation and Disinvestment.

futhdj.k rFkk fofuos'k esa vUrj Li"V dhft;s A

lhdk dk lEcU/k gS %
(a) y?kq m|ksx
(b) cM+s m|ksx
(c) chekj m|ksx

(d) phuh m|ksx
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3. Explain the objectives of Industrial Policy, 1956.

vkS|ksfxd uhfr] 1956 ds mn~ns'; crkb;s A

4. What are the major sources of Industrial Finance ? Briefly explains.

vkS|ksfxd foÙk ds eq[; lzksrksa dks la{ksi esa le>kb;s A

5. Discuss the main reasons behind the regional Imbalances in Industrial Development.

vkS|ksfxd fodkl dh izfØ;k esa izknsf'kd vlUrqyu ij ppkZ dhft;s A

6. Explain the various factors that determine location of Heavy Industry.

Hkkjh m|ksxksa dh vofLFkfr dks fu/kkZfjr djus okys dkjdksa dks le>kb;s A

7. Examine the meaning and importance of Exit Policy.

cfgxZeu uhfr ds vFkZ rFkk egRo dk ijh{k.k dhft;s A

8. Diffrentiate between Globalisation and Liberalisation.

oS'ohdj.k rFkk mnkjhdj.k esa vUrj Li"V dhft;s A

Section - C

[k.M & x[k.M & x[k.M & x[k.M & x[k.M & x
Objective Questions (Compulsory)

oLrqfu"B iz'u ¼vfuok;Z½oLrqfu"B iz'u ¼vfuok;Z½oLrqfu"B iz'u ¼vfuok;Z½oLrqfu"B iz'u ¼vfuok;Z½oLrqfu"B iz'u ¼vfuok;Z½
Answer all questions. Each question carries 1 marks. 1 × 10 = 10

lHkhlHkhlHkhlHkhlHkh iz'uksa ds mÙkj vfuok;Z gSa A izR;sd iz'u 1 vad dk gS A

,e- vkj- Vh- ih- ,sDV fdl o"kZ ykxw fd;k x;k \

(a) 1969

(b) 1972

(c) 1991

(d) 2002

9. Which is the apex institution for providing Industrial Finance ?

(a) ICICI

(b) IRBI

(c) IFCI

(d) IDBI

vkS|ksfxd foÙk iznku djus gsrq dkSu&lh laLFkk 'kh"kZLFk laLFkk gS \

(a) ICICI

(b) IRBI

(c) IFCI

(d) IDBI

10. 'SICA' is related to :

(a) Small Industries

(b) Large Industries

(c) Sick Industries

(d) Sugar Industries
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Write  True/False against following  :

fuEufyf[kr ds lkeus lR;@vlR; fyf[k;s %
1. Industrial Policy of 1956 was based on Mahalonobis model. (True/False)

vkS|ksfxd uhfr] 1956 egkyksfcl ekWMy ij vk/kkfjr Fkh A ¼lR;@vlR;½

2. Anand Sharma is at present Industrial and Commerce Minister. (True/False)

vkuUn 'kekZ orZeku esa m|ksx rFkk okf.kT; ea=h gSa A ¼lR;@vlR;½

3. The base year of Present Industrial Production Index is 2001-02. (True/False)

orZeku le; esa vkS|ksfxd mRiknu lwpdkad dk vk/kkj o"kZ 2001-02 gS A ¼lR;@vlR;½

4. Industrial Sector contributes maximum share of the National Income in India.

(True/False)

Hkkjr dh jk"Vªh; vk; esa vkS|ksfxd {ks= lokZf/kd ;ksxnku djrk gS A ¼lR;@vlR;½

5. First ever Industry established in India was the Cotton Industry. (True/False)

Hkkjr esa LFkkfir izFke vkS|ksfxd bdkbZ lwrh oL= dh Fkh A ¼lR;@vlR;½

Choose the correct alternative :

lgh fodYi pqfu;s %
6. Industrial Regulation and Development Act was implemented in the year :

(a) 1948

(b) 1951

(c) 1956

(d) 1962

vkS|ksfxd fofu;eu ,oa fodkl ,DV dc ykxw fd;k x;k \

(a) 1948

(b) 1951

(c) 1956

(d) 1962

7. Investment Limit for Tiny Sector is upto :

(a) 10 Lakh Rs.

(b) 5 Lakh Rs.

(c) 25 Lakh Rs.

(d) 30 Lakh Rs.

vfr y?kq {ks= esa fuos'k dh lhek gS %

(a) 10 yk[k #-

(b) 5 yk[k #-

(c) 25 yk[k #-

(d) 30 yk[k #-

8. MRTP Act was implemented in the year :

(a) 1969

(b) 1972

(c) 1991

(d) 2002


